CFE.

Design F#y°

v &

ARG EPAT SRS, SR, b, AR
HFEA .
- BEFES, TAWE,
- AISIB03 A N e 5% 4,
'%%j%:
— 2 EARAE, T,
— 27T B R AT,
-2 A THRA LB LWEL,
I EERATE, TR, DR AR AT,
1HEERFE, FHIAL, LRI ATHRPLELE,
— XS FEAT, WRIHA TR L2873,
- e ¥ A FA190°, A0°F-70° L K O°2[120° 2 [F(0°=F M R B0
REEF—FELGFER), TERdREANBARA(GLE), Tl
% Ve 0 I AL R

REBWREEIHFAKA, HAEHTHHEH,

FPEMRAY, BEXBERAFELNARELRNRE, H5LE5247
LW,

2 i 2B

“ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source @[ le "I
when reproducing our drawings. e ’&Eﬂ“'[n




CFE.

Designz*

#5(8) i CH

C1m
i
3H
K
R

T &(B) / E 4 (p) #13(B) / EFL CH 22 4T (p) / &1L CH
&Y

_ : ‘ -
15 il = B L f 2025 f; 025 H hi b1 d d1 h d2 | d3 ds g
423111 | CFE.30 BM3 M3 4 i _ _ i 11
423121 | CFE.30 pM3x13 i ] M3 13 ] i 14
423131 | CFE.30 CH-3 i ; i - 35 6 8
423141 | CFE30BM3pM3x13 | 42° 305 15 30 125 95 15 25 [ 3 4 M3 13 13
423151 | CFE.30 BM3-CH-3 M3 4 i _ 35 6 10
423161 | CFE.30 pM3x13-CH-3 i ) M3 13 | 35 6 11
423211 | CFE.40 BWM4 M4 55 i ; - i 26
423221 | CFE.40 pMx18 i i M4 18 ] i 34
423231 | CFE.40 CH4 i ; i _ 45 75 19
423241| CFE40BM4pMaxig | 2 405 20 404 185 125 20 4 MA 55 | M4 18 _ i 30
423251 | CFE.40 BM4-CH4 M4 55 i _ 45 75 21
423261 | CFE 40 pM4x18-CH4 i ) Mi 18 | 45 75 2%
423311 | CFE.48 BM5 M5 65 i _ _ i 44
423321 | CFE 48 pM5x17 i i M5 17 _ i 58
423331 | CFE.48 CH-5 i ; i ; 55 9 31
423341 | CFE48BM5pMsx17 | 0 485 24 46 20 15 24 5 M5 65 | M5 17 _ i 51
423351 | CFE.48 BM5-CH5 M5 65 55 9 38
423361 | CFE.48 pM5x17-CH5 i ; M5 17 | 55 9 45
423411 | CFE66 BB 10 i _ _ i 103
423421 | CFE.66 pM6X16 ) ME 16 ; 124

M6

423431 | CFE86 CH6 i - i - 65 105 | 77
423441 | CFEBBMBPMEXIE | &  ®® 3 87 5 21 3 6 M6 10 | Me 16 - i 115
423451 | CFE.66 BMB-CH-6 M6 10 i - 65 105 | 90
423461 | CFE66 pM6x16-CH6 i - M6 16 | 65 105 | 100

€ | [ el '] ‘ELESA™ and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
e‘allnnnll[n when reproducing our drawings.




1 [

=M=

CFE.

Design F#y°

ol ~ §
| I_]-
EExARE e R E 90° H & hiEE
BEFEE M= RE 90° AmERE mAXIFEHLE
= . . [N+ m]

8 8BS SATHERS | BESHE | BATESE | BRET | SATESS | WESE | sH/cH B p
Er[N] Rr[N] Ea[N] Ra[N] E90[N] ROO[N] =T

423111 | CFE.30 B-M3 140 1040 50 660 50 310 - 1| -
423121| CFE.30 p-M3x13 110 1040 40 460 60 560 - - |1
423131| CFE.30 CH-3 120 980 50 640 20 300 05 | - | -
423141| CFE.30 B-M3-p-M3x13 110 1040 40 460 50 310 - 1 | 1
423151| CFE.30 B-M3-CH-3 120 980 50 640 20 300 05 | 1| -
423161| CFE.30 p-M3x13-CH-3 110 980 40 460 20 300 05 | - | 1
423211 | CFE.40 B-M4 230 1920 90 1110 60 590 - | 4] -
423221| CFE.40 p-M4x18 300 2440 90 1110 60 590 - - |2
423231| CFE.40 CH4 370 2460 150 1580 80 1210 1 - | -
423241| CFE.40 B-M4-p-M4x18 230 1920 90 1110 60 590 - |42
423251 | CFE.40 B-M4-CH-4 230 1920 90 1110 60 590 4 | -
423261| CFE.40 p-M4x18-CH-4 300 2440 90 1110 60 590 - |2
423311 | CFE.48 B-M5 440 2890 160 1260 190 1290 - | A
423321| CFE.48 p-M5x17 310 2870 190 1900 160 1190 - - |5
423331| CFE48 CH-5 410 2850 300 2160 150 1440 2 | -] -
423341| CFE.48 B-M5-p-M5x17 310 2870 160 1260 160 1190 - |5
423351| CFE.48 B-M5-CH-5 410 2850 160 1260 150 1290 2 | A -
423361| CFE.48 p-M5x17-CH-5 310 2850 190 1900 150 1190 2 | -15
423411 | CFE.66 B-M6 500 2480 530 4160 310 2250 - | A
423421| CFE.86 p-M6x16 700 3490 240 2670 270 1830 - - | A
423431| CFE66 CH-6 690 3450 440 3160 260 2920 5 | - | -
423441| CFE.66 B-M6-p-M6x16 500 2480 240 2670 270 1830 - | A A
423451| CFE.66 B-MB-CH-6 500 2480 440 3160 260 2250 5 | A -
423461| CFE.66 p-M6x16-CH-6 690 3450 240 2670 260 1830 5 | - | A

* JAEHEEBIENM, FEFRERFTHHE,

“ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

2 (€lesaGANTER]

3
En
3

0



